REVIEW TEST
PJT1A
Intelligent Business. Unit 3 — Teamworking

Name:

Teacher: TOTAL

MARK

Number of points (max. 100 points) (60 points to pass)

I. Listening: II1. Grammar:

IV. Translation:

1I. Vocabulary:

I. Listening: (max. 20 points) points

I1. Vocabulary: (max. 34 points) points

A. Translate the following expressions into English: (2 points each)

schopnost dosahnout spolecného cile —

vrcholny fidici pracovnik ve vysoce vykonné firmeé -

poradat schuze k ziskani nejnoveéjsich informaci o vjvoji —

peclivé formulovat otazku na schiizi fesfci problémy —

nabrat nové cleny tymu a posilit kolektivntho ducha —

vyzadovat, aby tym splnil/vykonal své tkoly —

kontrolovat program jednani a udélat zapis ze schtize —

byt oddany cili a ochotny sdilet odpovédnost —

poznat néd silné a slabé stranky -

B. Write expressions the following definitions refer fo: (2 points each)

1. aperson who establishes the ground rules for teamwork and makes sure they are respected

and whose role in decision-making is neutral:

2. ameeting in which every member comes up with new ideas in order to find a solution to a

difficult problem:

C. Complete the sentence with one of the following phrases; translate the selected phrase into Czech. (2 points each)

COMPETENCIES, MORALE, TEAM LEADER, EFFECTIVENES,
AGENDA, STAND-UP, DECISION-MAKING, BRAINSTORMING

7. Itis not my fault that the

In Czech:

is not able to assign tasks clearly.

2. All the staff came up with interesting ideas at the meeting.

In Csech:

3. Have you studied necessary for a successful team?

In Csech:

D. Complete the sentences with correct forms of the following verbs; some verbs are not used:

PROVIDE — STRENGTHEN- REVIEW- BRING ABOUT
HOLD - EXTEND- RECRUIT - VIEW

(1 point each)

1. The position of our company on the market has been immensely
thanks to the launch of RZ 985.

2. Do you have any idea what could have the change in his

attitude?

3. I am amazed to see how much the way she her role
in politics has changed.

4. 1 think that 75% of all meetings should not at all.

E. Complete each sentence with a word made from the word given in brackets. (1 point each)

7. Not all the
(PARTICIPATE)

were satisfied with the programme

2. 'The team suggested extending
(COVER)

by 5 hours per week.

3. All factor have been taken into and this is the verdict.

(CONSIDER)

4. Tam sorry I cannot give you more information because the matter is higly
. (CONFIDENT)




ITI. Grammar: (max. 30 points) points
A. Fill in the gaps with a suitable preposition or adverbial, if necessary: (1 point each)
7. The last item the agenda is a discussion.

2. New rectruits should fit the structure of the company.

3. The outcome of the meeting is completely different what I expected.

4. Asaresponsible team meber she was concerned the team morale.

5. Do we have to report back what we saw at the conference?

6. I'm not going to put such an unreasonable decision.

B. Rewrite the sentences so that they mean the same as the sentence above. (3 points each)

7. Isent her a letter of apology but she still refuses to speak to me. Perhaps it has got lost.

The letter of apology which I sent her

2. She didn’s back up your proposal because you accused her of being incompetent.

You her of being incompetent.

3. We took on 5 new employees but it was not really necessary.

We those 5 new employees.

C. Fill the gaps with the correct form of the VERBS and other words in brackets:: (1 point each)

I wonder why we (HAVE TO, SPEND) so much time in
(SHOULD NOT, HOLD)
(COULD, NOTICE) us about the
ANEEDN’T, STOP) working

meetings. The last one, for example,

atall. They

changes via e-mail and we
just to appreciate what a great idea the Mangaing Director had come up with. But I admit it
(COULD, BE) much worse. Under the last management we
(ALLOW NOT, even, USE) the Internet and we
(COULD, HAVE) serious problems if we had been

caught using phones for personal purposes. Personally, I think some of the previous managers
(MUST, BE CRAZY) and

(MIGHT, NEED) special treatment. But who knows? The
(MIGHT, END UP, similarly).

current management

D. Choose suitable words or phrases that can complete each sentence. The number of correct answers is 0 — 4.
(2 points each)

1. Itis your fault you failed the exam. You more.
A: should have been studied B: could have studied
C: ought to have studied D: can’t have studied

2. I cannot find the file. It !

B: should have been stolen
D: must have been mislaid.

A: couldn’t been stolen
C: might have been stolen

3. On Fridays the staff wear T-shirts and jeans.

A: are allowed B: are not able to
C: can D: can’t

IV. Translation: (max. 16 points) points

Translate the following sentences into English: (8 points each)

Piistup, ktery nahlizi na tym jako na celek slozeny z jednotlivet a kde uspéch celého tymu
zavisi na tom, jak jsou ¢lenové tymu oddani plnéni svych dkold, se zac¢ina ménit, protoze
vykonna spoluprace vyplyva z kombinace individualnich a spole¢nych kompetenci.

Mnoho vedoucich pracovniki povazuje schiize za ztratu ¢asu a netési se na né, protoze
program jednani nenf ¢asto dobfe promyslen, rozhodovacimu procesu dominuji silné
osobnosti, vedouci tymut neposkytuji pozadované zdroje a a zpusob, jak zadavaji cile a pfidéluji
ukoly, nenf zcela jasny.




